= o
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20189 = =0l & LB H SIS
R s R SE=an);
M MIHME AE
g4 d2Hs 84 XY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ME&sH 16,539,841 19,405,225 A2,865,384
J| 678,430
< 227,999
Al 15,633,412
MEHE & 16,459,556 19,333,578 A2,874,022
J| 678,430
< 227,999
Al 15,553,127
HE2HE 24 XA 10,095,679 9,379, 166 716,513
= 120,000
Al 9,975,679
H2HE |4 29 2,000,615 1,772,592 228,023
201 2et24d] 3,000 1,800 1,200
01 At 22l 3,000 1,800 1,200
OZ2Y M= HEI M= 150,000& = 2094 3,000
203 YR =&l 3,000 3,000 0
03 AIHF=XH R =AH| 3,000 3,000 0
OAZ HMEHAFZ 2,000,000& 2,000
OXM=AE 2= 1,000,000 1,000
307 21201 A 1,986,215 1,765,392 220,823
02 It S AHEL 1,064,000 967,000 97,000
O&=FFC XI&A 260,000,000& * 13l 260,000
OFBFAMES XE MY 804,000
OBFN 24484 SHBE
120,000,000& * 12l 120,000
OBFA 24BUS SHNL
200,000,000& * 12l 200,000
OFEZN SMMcT 2sEH
10,000,000& * 12l 10,000
OFFANNKESAG K&
17,000,000 * 13 17,000
Os=z2Msdz =H
320,000,000 = 13 320,000
Od=I2HMsUHs &=d 57,000,000& = 13l 57,000
Od=A2EHMsUH &d
30,000,000& * 13l 30,000
OAMA & A3z &d
10,000,000& * 13l 10,000
OANZUE IO EUS &
20,000,000& =« 23l 40,000
03 BIAHNHE2IHIEL 922,215 798,392 123,823
OFFANMES AARZ 29 922,215
oJlzs 458,742,000 458,742
Oo=¢ 173,475,520& 173,476
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OH3RE=8S 122,699,000& 122,699
OY R4l 7,340,000 7,340
OXR==HHH| 3,600,000& 3,600
O=WAdl 15,600, 000& 15,600
O F2IH el 40,000,000& 40,000
OgEr243dH| 100,758, 000& 100,758
402 RI2HXt20l ™ 8,400 0 8,400
01 212t 2 AL E = (REM ) 8,400 0 8,400
OFFAM=2 EHIF7EY 8,400
Oz &=H 1,400,000& * 6CH 8,400
EFANEI BRUSE 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
OM34sl HF=AHEI F2Us
8,000,000& = 13l 8,000
EFANEIXNNRNIAESSNESSWEH NS 8,000 8,000 0
307 glz2+ol & 8,000 8,000 0
04 RIZFHALAIH E = 8,000 8,000 0
OHM26a EFAEIIXX FANFEFSUETES
o 223 8,000,000& = 13l 8,000
A=A =2 W 10,000 8,000 2,000
307 glz2tol & 10,000 8,000 2,000
04 DI2HHALALSE E X 10,000 8,000 2,000
OHM31al F=AEH 2 =23
10,000,000& * 13l 10,000
FFANEI =S 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
OHM218 EF=AEI| EHA =2
15,000,000& * 13l 15,000
FFANEI HEBUHES AU 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIRH B & 20,000 20,000 0
OHM203 HF=AEI HE¥UEEFIUS
20,000,000 = 13l 20,000
EFANEI 2= 9,000 8,000 1,000
307 21201 A 9,000 8,000 1,000
04 QIZFHALAIH B = 9,000 8,000 1,000
OHM16a HFAEI ==
9,000,000& = 13l 9,000
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SA - ZE-B(EA) - NRAY - B S il &t o il RS2
EFAEI =2 U3 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DIZFSHAIAIRI 2 = 8,000 8,000 0
OM163 HFAEHI =SU3
8,000,000 13 8,000
EFANEI 223 15,000 13,000 2,000
307 21201 A 15,000 13,000 2,000
04 DIZHHALALSE E X 15,000 13,000 2,000
OHM153 HF=AEI SEZUS
15,000, 000& 13 15,000
EF=AZEI| H=SHS 12,000 12,000 0
307 21201 A 12,000 12,000 0
04 QIZFHALAIH B = 12,000 12,000 0
OHM11a H=AEI| BISU3
12,000,000& 13 12,000
EFANEI HAAZXHF 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
04 QIZFHALAIH E = 15,000 15,000 0
OHM9sl HFAEI| HAATIX[I
15,000, 000& 13 15,000
EFAEI U3 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 DI2HHALAISE E X 8,000 8,000 0
OHM73 EFANEI R
8,000,000 13l 8,000
EAIEIl ALOI Z2MTBAHE HOH 3 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OMA4sl H=AIZEI| AOIEMTBAHE HH 3
8,000,000 13l 8,000
E=AIEEE B2 O3S 15,000 12,000 3,000
307 21201 A 15,000 12,000 3,000
04 DIZHHALALSE E X 15,000 12,000 3,000
OHMb5sl HFAIZH BH2CH&
15,000, 000& 13 15,000
EFANEINNE L= S 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B & 8,000 8,000 0
OM203 HFAEIXUNXNDAEHAHUS
8,000,000& 13 8,000
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EFANTH R4AE k20 E 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DI2ZHHALALSE E X 8,000 8,000 0
ON43 HF=AZEH 449 0FUE
8,000,000& = 13l 8,000
EE =3 ¢ THAWSE iz 10,000 14,000 24,000
307 21201 A 10,000 14,000 A 4,000
04 DIZHHALALSE E X 10,000 14,000 A4,000
Os=28 =3 2 AEHAUS M=
2,000,000 = 53l 10,000
dIR==H 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
02018 ¥=2R==H % IEH2UI
5,000,000& = 13l 5,000
EFAXNIHNHAAT S A=A 50,000 30,000 20,000
307 glz2+ol & 50,000 30,000 20,000
04 QIZFHALAIH E = 50,000 30,000 20,000
OM142l X s HMHAALI M =AU
50,000,000& = 13l 50,000
S AN 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 DI2HHALAISE E X 15,000 15,000 0
©2018 E= X A= AFA HAEE
15,000,000& * 13l 15,000
AT d= 5.10.00 3UH3s U= 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
OHM12sl ZXW 8= =. 0.0 3043 =7U3
30,000,000& * 13l 30,000
FEI H=2REUS 240,000 200,000 40,000
< 120,000
Al 120,000
307 21201 A 240,000 200,000 40,000
< 120,000
Al 120,000
04 DIZHHALALSE E X 240,000 200,000 40,000
ON11s HEBI H=2R=U
240,000,000& * 12/ 240,000
< 120,000
Al 120,000
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M AN HE AE
GHe: M2Eds 84 AH (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
=2 HelolZ2EUE EHU3 20,000 20,000 0
307 2Iz2t0| A 20,000 20,000 0
04 SIZ2ISHAAISH E & 20,000 20,000 0
©2018 LIctAIY =20 el0I2E 24U 3
20,000,000& * 13| 20,000
HAMEM) M2 H H 203 40,000 40,000 0
307 212t0| & 40,000 40,000 0
04 SIZ2ISHAAISHE E X 40,000 40,000 0
OHM153 HIMIMN) A2 H. . 23S
40,000,000& * 13l 40,000
MNEAR2E IR 84 6,780,964 6,661,562 119,402
201 et 152,777 125,286 27,491
01 AP 2t 2] d| 700 700 0
ogss d=2 %2 =2MHU3g 5 8%
70,000& * 104 700
02 2324 147,077 120,586 26,491
DRAXMREHIIE =429 51,840
oO&II=2 90,000 * 8= » 12&€ 8,640
OEAIJIAE 180,000& * 95 = 128 19,440
ozeldl 220,000& * 9= * 12& 23,760
OHHAEZ dEHEH 89 2,400
[OrspIN=: 180,000 * 12& 2,160
O&dtx=Exz 20,000 = 12& 240
OHZEZEAIZHE AIEE= 21,000
OLUBLAIA (ATHAIE2Z2)  1,400,00088 * 12€ 16,800
OQOZOHQIALZHE (ATHAIZ 2 ) 350,000 = 128 4,200
OLEUZASZE 29Y 7,800
[OYSPIETE=] 500,000& = 12& 6,000
Oatot=ER=2 50,0008 * 12& 600
Ol 100,000& * 12& 1,200
OSMES=A(ZSH2ETUH) 2222
500,000& * 12& 6,000
OACEPE 2H(E=2ATHEHUW)
150,000& * 128 1,800
Ost=A A HAWZ H| 3,000,000 * 6= 18,000
OZdE HIH(LZ, A AZE) 1,489
OdUss 827 « 2004 * 3HA + 3 1,489
oess dEXY A=
1,286& = 64 » 252 * 1004 ~ 128 23,148
oess dEXE NSIHA 60,000& * 10CH 600
o M2y BE2 750,000 = 10CH 7,500
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSsRuEnNE 2INERE
50,000& = 1004 = 23l 1,000
O=2 RAE=H 500,000& * 94 A 4,500
03 &Ar2 Z I 5,000 4,000 1,000
ONFSSHIIL 58 & WA
5,000,000& = 13l 5,000
206 = Hl 267,450 265,450 2,000
01 M= 8l 267,450 265,450 2,000
Odi =28 &3 ¥ &l 50,000
Ostatel 245 40,000& * 253 = 50& 50,000
OZc® =& & ZIIES 33,600
OEeatel 53 800,000& = 63 » 7& 33,600
OzER EHES & &l 26,000
O=&9 1283 40,000& = 133 = 50& 26,000
OHAE=R & & Z2JIES 21,600
OHBAHAZ=2 115 60,0008 * 1285 = 30& 21,600
ONIZEIIZR =& ¥ FHIES 6,250
O&dJllatel 48 25,0004 = 58 = 50& 6,250
OFZOMQ AASF =& ¥ FHl 20,000
OaEe 93 40,000& = 10& = 50& 20,000
OHIL=ZR =e€ES & FH| 50,000
Ostatel 243 40,0003 * 258 = 50& 50,000
OLENAE EHES & ZHl 60,000
O&E2 298 40,0003 = 30& = 50& 60,000
301 et a3z 6,299,667 6,233,400 66,267
o=t - 2SES2H3 6,299,667 6,233,400 66,267
oO2sH H(ds) 3,639,300
oz=s 60,000,000& » 69 360,000
og= 54,000,000& » 3H 162,000
O=2X 51,000,000 * 49 204,000
OZ2ZX 46,800,000& = 29H 93,600
OEdold 39,900,000& * 1H 39,900
Od = 63,000,000& » 4H 252,000
Od = 53,400,000& = 5H 267,000
Od= 44,400,000& * 109 444,000
Od = 40,800,000&  359H 1,428,000
Ood= 32,400,000 = 4H 129,600
(OFaE 46,800,000& » 29H 93,600
o= 43,200,000& » 3H 129,600
OHl&dged s+ =8z
500,000& = 6% = 12& 36,000
OXNF2SHIR 2dlExE 46,800
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CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
oz=s 300,000& = 99 « 12& 32,400
O=2X 150,000& = 8H » 12& 14,400

O2sF =&t 568,800
O=Aldl 540,000& = 798 » 123 511,920
o==dl 35,000& = 799 = 12& 33,180
O2tAaldl 25,0003 = 798 » 123 23,700

O&XE&Hl 70,000& = 799 « 30 165,900

Osl&&Hl 60,0008 = 798 * 102 * 6 284,400

(@R AP RPN =, 1,000,000& » 30 * 103l 300,000

o3 E=sY 126,000
og= 500,000& = 6H = 123 36,000
o= 500,000& = 1294 = 12& 72,000
O=2ZX 250,000& = 6H » 123 18,000

Of==&== G AHAZ  150,000,000& = 13 150,000

OdE2E= S 20,0003 = 798 » 123 18,960

Oofl&X=d L MAHAUE ZOt

30,000,0002! * 43 120,000
ONFRESHIY YEEZNHE 29
1,000& = 900P * 799 71,100

OXF2SEIIF NMXH RES 669,407
OE&AAHAZ 3,639,300,000& * 1/12 303,275
(OFaR= )= 3,639,300,000& * 3.06% 111,363
O&INQYSH 111,363,000& * 6.55% 7,295
OZ0HZRES 3,639,300,000& * 4.5% 163,769
OCnE2ds2Y3a 3,639,300,000& * 1.5% 54,590
O EAEE S

3,639,300,000& * 0.8% 29,115

OENL= R W= 14,000
Oogst=2 95 200,000& = 103 » 7H 14,000

O=sa2 2d 2 HIES 22,000
Og=s52 53 200,000& * 63 » 11H 13,200
ObtetE=te 78 100,000& * 88 = 11H 8,800

OEc = Il=l 11,200
ogsts2 78 200,000& * 8& » 7 11,200

OdE=R 1= 15,400
Ogst=2 65 200,000& = 7& = 11 15,400

OHAZ= IH=Hl 16,000
ogst=se 78 200,000& = 8& = 10 16,000

ONZEZZ=S L=l 9,600
Og=s=2 78 200,000& * 8& = 69 9,600

OFMAAIASF LIl=Hl 12,800
OMNBESR 73 200,000& = 83 » 89H 12,800

OWE=SF W=H 14,000
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Ogst=s2 9& 200,000& = 108 » 7H 14,000
OLEHAIA R Tl =H| 24,000
OMZB=Z2 95 200,000& = 103 » 129 24,000
405 RHoHE S HI 61,070 35,000 26,070
01 L ESFHSHI 61,070 35,000 26,070
OX¥2=ZIR HE7Y 35,000
Osgxg 35,000,000& = 1 35,000
O3JNHE(HMHAARS) 2,750,0008  1& 2,750
O3INAE(ZHOHAARS)  3,500,0008  1& 3,500
ORTEJIAZS(LBAFZE)  11,000,0008 * 1& 11,000
O3JAE(LBAAR) 3,500,000& » 14 3,500
ONF2SHIL =4 MEI 7L 5,320
ONZEIZ 1,330,000& * 104 1,330
4 1,330,000& * 2CH 2,660
OEXE=3 1,330,000& = 1CH 1,330
SIRMESR0 =203 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZFHALALSE E X 20,000 20,000 0
OM17a 2SR 0U =02
20,000,000& = 13l 20,000
3.18 tt=0tetEU S 18,000 20,000 A2,000
307 21201 A 18,000 20,000 A 2,000
04 QIZFHALAIE B = 18,000 20,000 A 2,000
03.18 &= DttEU 18,000,000& * 13l 18,000
82 SNHEFAAYSIFI| 2 FFU3 50,000 50,000 0
307 21201 A 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
ONb54s &= SDEHAAWUEI| &3 F2U
3| 50,000,000& = 13l 50,000
2018 M 193] OFAIOtA R Al & =2 CH 3 100,000 0 100,000
307 21201 A 100,000 0 100,000
04 DI2FSHALAIE 2 = 100,000 0 100,000
©2018 M 193] OFAIOFA R Al & =2 1 3
100,000,000& * 13 100,000
H13s HS¥ZSHEI EIAZUS 60,000 0 60,000
307 glz2+ol & 60,000 0 60,000
04 QIZFHALAIH B = 60,000 0 60,000
ON132 WsBZE=HEI d=AAUE
60,000,000& * 13l 60,000
M523 =20 Y2SEd=2UE 15,000 0 15,000
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307 2Iz2to| & 15,000 0 15,000
04 SIZ2ISHAAIH E & 15,000 0 15,000

A2 AU
15,000,000& = 13 15,000

H173 o &0 HdZOHAHEHAZO 3 90,000 90,000
307 90,000 90,000
04 90,000 90,000

2D M2 HEEIAZUE
90,000,000& * 13| 90,000

Ml 163 o M=ZEIA=S MO 70,000 70,000
307 70,000 70,000
04 OIZ2tSHAFALS B X 70,000 0 70,000

OMN163 SH2=HAHEHHA = H WS ZH MIZEAT
EE 70,000,000 = 13| 70,000

H583 S &I MZ2AEZHE ARG 80,000 0 80,000
307 2Iz2t0| A 80,000 0 80,000
04 SIZ2ISHAAIH E & 80,000 0 80,000

OHM583 &I MBAZHENHSAUS
80,000,000& * 13| 80,000

2018 MERSITAIEZF SBS Z2=2U3 70,000 0 70,000
307 212t0| & 70,000 0 70,000
04 SIZ2ISHAMAISHE E X 70,000 0 70,000

©2018 SBSZZz =& U3 HEFSE0O
70,000,000& * 13| 70,000

2018 St=AIHBH R AHA WA 90,000 0 90,000
307 QI2t0| ™ 90,000 0 90,000
04 CIZ2tSHALALSE B X 90,000 0 90,000

©2018 StH=2ASHP2H WA
90,000,000& * 13l 90,000

ALLXE S8 NEEE 50,000 0 50,000
201 2Et24H Y| 50,000 0 50,000
01 AP 2t 2] d| 50,000 0 50,000

OAEZXE S&t AIEEE 50,000,000 = 13| 50,000

2018BaASH=EHZ Cl0IEAIOE 2HA 4,100 0 4,100
201 et d9d| 4,100 0 4,100
03 A2 | 4,100 0 4,100

o018 ESH=L 2IO0IEAIOE 2 & 4,100
O3 X 2,000,000& = 13| 2,000
Os8d9 M2 70,000& = 30H 2,100
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tHet=d sl 8= AMLUHSEHE 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
04 DI2ZHHALALSE E X 20,000 0 20,000
©2018 tHet=2 S &EH E=ALIH=SEUHSE
20,000,000& = 13l 20,000
FoME 4 XA 1,309,405 536,726 772,679
J| 67,020
< 26,808
Al 1,215,577
Zoe s #4438t 546,365 335,296 211,069
307 21201 A 541,249 335,296 205,953
02 IAtFAAHE X 191,268 141,000 50,268
O MEN=2g 2L XA 41,000,000& 41,000
OFe =7na 29 22,500,000& * 10 22,500
OM12s] M=HMHSHHMsEUH &
7,000,000 =+ 13l 7,000
OM102 =8 MsUa &d
5,000,000& = 13l 5,000
Os=s02 sotsHsUs &d
5,000,000& = 13l 5,000
OXN38sl M=HMAMSUH =M
25,000,000& = 13l 25,000
ON122 sS=SHMHAMEMSUH &
20,000,000& = 13l 20,000
O&d=CHal &It &4l 10,000,000& * 13l 10,000
02018 HOHCIME M KX X (5Z) MR2IMA A
(22X, UMY, HA=g S) 27,168
OAMZtel=Z
7,530&3 * 15A12F = 128 * 53 6,777
O+ 100,000&  12& * 549 6,000
Ogs 22l 100,000& = 128 » 5H 6,000
OE HYI 70,000& = 128 ~ 53H 4,200
C4aEE 2,275,510& = 13l 2,276
OJINS(E2ELZ) 1,914,750 « 13l 1,915
Z2y 258 AQE Y
500,000& 3004 2 15,000
OFML LML SHX
400,000 * 5% = 53 10,000
OZMAEXOIES A AIEZ K&
3,600,000& * 1JH 2 3,600
03 SIAHNHE2IHIEE 349,981 194,296 155,685
OFFA ZOUH=s 29 349,981
OoJlzs 194,717,000& 194,717
Oo=¢ 32,499, 170& 32,500
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O=cl= 4| 85,650,780& 85,651
OJI2 =8l 2,400,000 2,400
OXNMg PR+ A H| 3,600,000& 3,600
O0ddl 7,200,000 7,200
O= &l 1,680,000& 1,680
OgEr243dH| 22,233,000 22,233
402 RI2HXt20l ™ 5,116 0 5,116
01 212t 2 AL E = (REM ) 5,116 0 5,116
O =3 AR= =257E 5,116
OogeE ZFFH 1,400,000 * 2CH 2,800
OgeE My 245,000 = 30K 735
Oteld 200,000& = 304 600
OIE & 163,500& * 6K 981
EFAED B IR =203 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OHM4sl HF=AZEI HHA I 3203
8,000,000& = 13l 8,000
EFAEI HO0H MEHs S0 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIE B = 8,000 8,000 0
OHM9sl HEFAIEI HOUUMEMSE EF1U2
,000,000& * 13 8,000
EFANEI 0 MEHE E=SUHE 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
OM102 HEFAEI HMHUUEHME ESUS
8,000,000& =+ 13l 8,000
EFANEI ZOH=EF0HE 12,000 8,000 4,000
307 glz2+ol & 12,000 8,000 4,000
04 QIZFHALAIH E = 12,000 8,000 4,000
OHMBsl HFAIEI ZHoOH 532U
12,000,000& * 13l 12,000
EFAEI ZBOHAHOIESUH S 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
04 DIZHHALALSE E X 12,000 12,000 0
OHM62 HFAMEI HOMHANOESHS
12,000,000& * 13l 12,000
FF=ANEI =0t =disl 6,000 4,000 2,000
307 21201 A 6,000 4,000 2,000
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04 SIZ2ISHAAIH E & 6,000 4,000 2,000
OHN33 HZAIAEDI =00 =33l
6,000,000& = 13| 6,000
XN AZ2HOHCIBHECIE A=A 3 22,000 22,000 0
307 2Iz2to| A 22,000 22,000 0
04 SIZ2HSHAAISH E & 22,000 22,000 0
OHM93l Z X M=Z2Z0HCIHHEQIE A=A 3
22,000,000& * 13| 22,000
XX =20 2=0U3 22,000 20,000 2,000
307 212t0| ™ 22,000 20,000 2,000
04 SIZ2HSHAAISHE E X 22,000 20,000 2,000
OHM83l XX M=X0e=2=W3
22,000,000& * 13| 22,000
AMAO M=2AOHEMHEA A=A 15,000 15,000 0
307 2I2t0| ™ 15,000 15,000 0
04 CIZ2tSH AFALS B X 15,000 15,000 0
OM73 ZXXHEH M=22HMHHEHA d+=AHS
15,000,000 = 13| 15,000
AMAH M= NEAHOHQ =.10 .98 3:3 72U 16,000 0 16,000
307 giztol A 16,000 0 16,000
04 CIZ2tSHALALS B = 16,000 0 16,000
OHM23 AXBH 8=2XHFMH L =B 3:
3 =703 16,000,000 = 13| 16,000
O MEH F K S A BHX 134,040 80,430 53,610
J| 67,020
= 26,808
Al 40,212
307 2izto| A 134,040 80,430 53,610
J| 67,020
= 26,808
Al 40,212
02 QIZIA AAIE E X 134,040 80,430 53,610
OZOIME =K =X BHXI
26,808,000 = 5 134,040
J| 67,020
= 26,808
Al 40,212
2018 IPCHIHIAIZ & = ) 3 500,000 0 500,000
307 2iz2to| & 500,000 0 500,000
02 QIZIA AAIE E X 500,000 0 500,000
©2018& = [PCHI HI A2 & =2 TH 3]
500,000,000& = 13l 500,000




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEs 245 2,846,260 2,717,686 128,574
J| 611,410
< 81,191
Al 2,153,659
AL IHISHAY XI& 452,740 384,168 68,572
J| 316,918
< 67,911
Al 67,911
301 g4 = 452,740 384,168 68,572
J| 316,918
< 67,911
Al 67,911
01 MI2EZE 06z 452,740 384,168 68,572
oOArZ=2i 084 XA
113,185,000& * 43| 452,740
Jl| 316,918
< 67,911
Al 67,911
Lo (M LR E T = Xl &= At X 348,504 348,504 0
J| 166,452
< 4,680
Al 177,372
307 gl2tol & 348,504 348,504 0
J| 166,452
< 4,680
Al 177,372
02 IZtE S AHE L 348,504 348,504 0
Ot XA Xl 87,126,000& » 43 348,504
J| 166,452
< 4,680
Al 177,372
HEAXHLN MEXH =K S XX 268,080 294,888 A 26,808
J| 128,040
< 3,600
Al 136,440
307 glz2+ol & 268,080 294,888 A 26,808
J| 128,040
< 3,600
Al 136,440
02 YAFHAANGEEE 268,080 294,888 A 26,808
CIGESRNE=E - E=PNIE=PNL: PN
67,020,000 = 43l 268,080
J| 128,040
= 3,600
Al 136,440
ANZMEHSXEZ X X 27,936 27,936 0
307 glz2+ol & 27,936 27,936 0




EM MENEDL

M AN HE AE
chelr MEHS 248 (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 27,936 27,936 0
OFFTANMEYESXN S XEIX (HAH)
6,984,000 = 43| 27,936
MEHsE 24 A3 329,000 302,590 26,410
307 2Iz2to| A 329,000 299,200 29,800
02 DIZHEAAIE E X 329,000 299,200 29,800
OMNZ28s =3 MEN=U =&
85,000,000& * 13| 85,000
©2018 SE =S XA ¥ SE€HIE) MEAHAS
E=248s s4& 30,000,000 30,000
02018 MEH T =34 d=20U3 &4
10,000,000& 10,000
©2018 &= & T MEHNFUS HI S
5,000,000& 5,000
OHM133 ESEHET 2 M =sla =&
20,000,000& * 13| 20,000
OHM11e ES=EHHdMEM=UE &2&
9,000,000& = 13 9,000
©2018 EF A2 HIE AEE I
3,000,000& 3,000
OHMN193 =HE2CHSEH 2LRH20=2
g =4 2,000,000& = 13 2,000
02018 E==SMNESSHLUE &
8,000,000& = 13 8,000
©2018 MEXNSX S XH(25H) MM ALS (X
S, EHAHY|, &ed2=%)154,000,000 154,000
©2018 EFAIN=RE AN IS
1,500,000& = 23| 3,000
MEH R AMDIALSE AL 443,000 347,000 96,000
307 QI2t0| ™ 443,000 347,000 96,000
02 QI2tAAMAIE E X 443,000 347,000 96,000
O=0HME100 E=HMEUSHEH 29Y
50,000,000 50,000
02018 MEH WA 29 360,000,000& 360,000
OMENsLNAY =25 WA 12,000,000& 12,000
©2018 HelOldlsna 249 6,000,000& 6,000
OYs & SYAW ALX DA 2Y
15,000,000& 15,000
MEHFHALKH 90,000 90,000 0
307 212t0| & 90,000 90,000 0
04 SIZ2SHAAISH E X 90,000 90,000 0
OMS AKX & (POOL) 10,000,000& = 93| 90,000
HFEANAHEFH) MEHNET S3EUHE A& 45,000 42,000 3,000
307 2iz2to| & 45,000 42,000 3,000




2N
X ZH -
L= B
el

SA - ZE-B(EA) - NRAY - B S il &t o il RS2
04 DIZFSHALAIRI 2 = 45,000 42,000 3,000
OF=ANEIH) MEHWNSSSE UH3l(308)
45,000,000& 45,000
AT HEHsE S203 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
04 DIZHHALALSE E X 12,000 12,000 0
OHMbal HFAEI MEME =AU
12,000,000& * 13l 12,000
FFANFI HEH=E ANE=SUHE 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
OM4sl HFAZEI| HEH=E ANOE2U
6,000,000& = 13l 6,000
AN MEH= SR03 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OXMb5sl HEFAIEI MEMSE §F1U2
10,000,000& * 13l 10,000
EFANED MEHs &II=Us 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
04 QIZFHALAIH B = 6,000 6,000 0
OXMb5sl HF=AIEI M= =W
6,000,000& * 13l 6,000
EFANEI MEH=S O3 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
OMb5al HEFAZI HEHE k20
10,000,000& * 13l 10,000
EFANEI MEHS S0 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DIZHBAFALRI 2 & 8,000 8,000 0
OHM4g HEFANFI HEHF S22
8,000,000& = 13l 8,000
FFANFI dEHs J2E==0H3 8,000 6,000 2,000
307 21201 A 8,000 6,000 2,000
04 DIZHHALALSE E X 8,000 6,000 2,000
OM4sl HFAEI| MEHE dct2ESZUHE
8,000,000& = 13l 8,000
EFANEI MEH=s d2 MA3c0ldisl 8,000 8,000 0
307 21201 A 8,000 8,000 0




SN HSHED
M MBS IE
A

el MEHs 2435 (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 DI2HHALALSE E X 8,000 8,000 0
OMb5e HFAZI HEHE d=3HA=2H01E
thal 8,000,000& = 13l 8,000
EFANED M= HLUAME 9,000 8,000 1,000
307 glz2tol & 9,000 8,000 1,000
04 DIZHHALALSE E X 9,000 8,000 1,000
OHM4z HEFANEI H2H=s dUAE
9,000,000& = 13l 9,000
FFANFI MEHs 24U 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OHM3s HFAZEI MEHE 2AUE
8,000,000& = 13l 8,000
EFAEI HEHE BHELUEUS 15,000 12,000 3,000
307 21201 A 15,000 12,000 3,000
04 QIZFHALAIH B = 15,000 12,000 3,000
OXMb5sl HFAIEI| MEHMS BHECIEHWE
15,000,000 * 13l 15,000
EFANEI MEHE s7UHE 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
04 QIZFHALAIH B = 6,000 6,000 0
ON4sl HFAEI HEHME sU=
6,000,000& * 13l 6,000
EFANTH dEME 2E0LdU 7,000 7,000 0
307 glz2+ol & 7,000 7,000 0
04 QIZFHALAIH E = 7,000 7,000 0
OMb5al HFATH MEHs BECLIUHE
7,000,000& = 13l 7,000
EFANTH MEHS HAHLUALE 6,000 6,000 0
307 gl2tol & 6,000 6,000 0
04 DIZHHALALSE 2 X 6,000 6,000 0
OMb5a HFAZH HEMF GHHHLIAHS
6,000,000& = 13l 6,000
E=ANZTH MEXs U3 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
OHMb5sl HFAIZH MEME SFAUE
6,000,000& = 13l 6,000
X, FIYUFN)| IFUMEHS dIAAUE 15,000 15,000 0
307 21201 A 15,000 15,000 0




2N
X ZH -
L= B
el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DIZHH AL AR 2 & 15,000 15,000 0
OHM15a8 XX HAHIH)] [ UMEHS 8=
AMZTH 2 15,000,000& * 13l 15,000
AN HAMEHE M50 40,000 45,000 A5,000
307 glz2tol & 40,000 45,000 A5,000
04 DIZHHALALSE E X 40,000 45,000 A5,000
ORMe62l HX , FHAHHH 8= Z2U32
40,000,000& = 13l 40,000
AN HAMAME F MEHS HELEHUS 25,000 25,000 0
307 21201 A 25,000 25,000 0
04 DIZFSHALAIRI B X 25,000 25,000 0
OHM4E X HIAYINH F MEHS HHE
2IE 3l 25,000,000& = 13l 25,000
X, FAYUIAH M= Ol=HLIAS 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OXMb5sl XX , HAMBME MF0I=HLIA O
3 10,000,000& * 13l 10,000
X HAMAME MEHE dIHUALSE 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QIZFHALAIH B = 30,000 30,000 0
©2018 H X, HIAMBHNY MaHS MIHLA
Ch3l 30,000,000& = 13l 30,000
FAMPH HHESOetEWS 240,000 220,000 20,000
307 glz2+ol & 240,000 220,000 20,000
04 QIZFHALAIH E = 240,000 220,000 20,000
ORM162 HAUIY HESOHENS
240,000,000& * 13l 240,000
MEXSE FEFAIQ AZ2ZIHHE 25,000 25,000 0
307 gl2tol & 25,000 25,000 0
04 DIZHHALALSE 2 X 25,000 25,000 0
©2018 MM = F=AC 222IUH3
25,000,000& = 13l 25,000
2018 AlQlstg 224 Sgl2 2013 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
©2018 224 =dlz2 213l
20,000,000& = 13l 20,000
BFA MEHSUH 95,000 95,000 0
307 21201 A 95,000 95,000 0




SN HSHED
M MBS IE
A

el MEHs 2435 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 95,000 95,000 0
OMb5a HFA MEMIFUHI
95,000,000& = 13l 95,000
BFA dEMSHHZE SOIESH 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
OMb5e HFA MEMSHAZE OIS =M
8,000,000& = 13l 8,000
A 1-212 41,000 45,600 A 4,600
307 21201 A 41,000 45,600 A 4,600
04 DIZHHALALSE E X 41,000 45,600 A 4,600
©2018 H=Al 1-2121(638l) 41,000,000& 41,000
=23 HEE 10,000 10,000 0
S 5,000
Al 5,000
307 glz2tol & 10,000 10,000 0
< 5,000
Al 5,000
04 DI2HHALALSE E X 10,000 10,000 0
©2018 =8 W& A 10,000,000& * 13l 10,000
= 5,000
Al 5,000
2018 = S4 2&X JIE = NEY AL 15,000 0 15,000
307 glz2+ol & 15,000 0 15,000
04 QIZFHALAIH B = 15,000 0 15,000
02018 E= 54 2&x Jlg Fx= NEE o
kel 15,000,000& * 13l 15,000
ATAE SeAZ HAEE 28,000 28,000 0
307 izl & 28,000 28,000 0
04 QIZFHALAIH E = 28,000 28,000 0
©2018 A XAE S22 HAEE
28,000,000 =+ 13l 28,000
AT H=ZAHSE 40,000 40,000 0
307 glz2tol & 40,000 40,000 0
04 DI2HHALALSE E X 40,000 40,000 0
OHMb5a AX dIZ&U
40,000,000& = 13l 40,000
AL d=2=E U3 35,000 35,000 0
307 2201 A 35,000 35,000 0
04 DIZHHALALSE E X 35,000 35,000 0




2N
X ZH -
L= B

el

ni

Olon

=

=&
ALBI HI =
MET =

g A
0 0loh

st

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OM113 X d=2=2U3
35,000,000 = 13| 35,000
SSNEE UG 30,000 30,000 0
307 2Iz2t0| A 30,000 30,000 0
04 SIZ2HSHAAISH E & 30,000 30,000 0
OHM153 == & &30
30,000,000& = 13 30,000
== MEANSOHRUS 10,000 10,000 0]
307 212t0| & 10,000 10,000 0
04 DIZFSHALAIRI B X 10,000 10,000 0
OHM10s == MEH= 02U 3
10,000,000 = 13| 10,000
SZE2HFAE &= 2,208,212 6,700,000 N4 ,491,788
=0l OsEdsS HE 372,125 0 372,125
401 AlEHIZL £ 0HY| 372,125 0 372,125
01 Al& gl 369,795 0 369,795
OEOICISEANs2 HEAY
369,795,000 * 10 A 369,795
03 Al& 2 TH Y| 2,330 0 2,330
OHEOIISEMSS HE ALY AEF0Y|
369,795,000 * 0.63% 2,330
QEOIPHE XHEAMY 1,836,087 0 1,836,087
401 AlEHIZL 2 0HY| 1,836,087 0 1,836,087
01 Al&H| 1,829,500 0 1,829,500
OLEOFTE XHAIY 1,829,500
O& Al &E Al 500,000,000& 500,000
OEXIOHHI 700,000,000 700,000
OZ2AHH] 629,500,000& 629,500
03 AlE 201 Y| 6,587 0 6,587
OLLEOFTE ZHAIY AL
1,829,500,000& = 0.36% 6,587
HHSHAY (MESEEY) 80,285 71,647 8,638
Jl2&ddl 41,256 28,008 13,248
Jl2AH| 41,256 28,008 13,248
201 et 15,216 12,048 3,168
01 AR 22l ] 15,216 12,048 3,168
OJIEgdesdEsSH (JI=&HHl)
500,000 = 12& 6,000
o3I (J1=&Hl)
8,000& * 129 x 82 x 12& 9,216
202 044l 23,040 12,960 10,080




EM MENEDL
H: HH2IAH(HMSIEDY)
el JI=23Hl (Sl & &)

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 2L Y] 23,040 12,960 10,080
©udl(21=Z&4l)

20,000& = 12 » 8 * 12& 23,040

203 &R =&H| 3,000 3,000 0

04 EANSHLRF=AH| 3,000 3,000 0]
©J| =M (15210]38t) 250,000 = 12& 3,000

ol A 39,029 43,639 N4,610

oI 4| 39,029 43,639 N4 ,610

101 2121 4| 39,029 43,639 AN4,610

03 2INHAZZ2XHE %= 39,029 43,639 AN4,610
O33R 2= 39,029
OJI=23(Ch3210) 1,843,940 » 1 = 12g€ 22,128
o254 92,190 » 1H » 128 1,107
OJLA X & HI 150,000& * 198 = 12& 1,800
O=&t| 150,000& » 1Y = 12& 1,800
OuWsEE=xH| 150,000& + 1Y « 12& 1,800
OY ZE I 1,198,561& » 1H * 23] 2,398
OxU2RE 309,000& ~ 1€ * 12& 3,708
OdIIEAZ 82,400& x 1¥ = 20¢ 1,648
OEsE=< 100,000& * 1¥ = 12& 1,200
OJ|<==¢ 150,000& = 1™ x 4& 600
O&dx< 70,0008 * 18 ~ 12& 840




